
Model
#3370-S

Beef - Dairy
Waterer

#3370-S Specifications
6 - 9 1/2" openings / Ball closures

Capacity Gallons Dimensions Weight

250 Hd. Beef 100 45 1/2" x 57 1/2" x 20" tall 215#
120 Hd. Dairy (378 Liters) (146 x 115 x 51 cm) (98 Kg)
200 Cow-Calf

529184_Miraco_Miraco_509856_Layout  5/4/17  2:01 PM  Page 64



 
Part # Description

866 Top assembly complete
853 Center insert complete
852 Center insert w/o dome
856 End insert
858 Dome
306 5/16" x 2" S.S. bolt
878 5/16" S.S. washer
859 Center dome gasket
864 Top gasket assembly 276"

643 10 3/4" drinker ball

468 Base assembly complete
347 5/16" x 3/4" S.S. washer
409 4" male adapter
472 Outer fill pipe
706 5/16" x 2 1/2" S.S. lag bolt
222 3/8" x 1 1/2" S.S. bolt

477 #3370-S parts bag
322 2" rubber drain plug
344 3/8" x 3 3/4" S.S. anchor bolt
351 3/8" S.S. washer
352 5/16" x 1" S.S. bolt
353 Anchor clip
357 S.S. cotter key
699 3/8" S.S. nut
474 Bottom gasket 115"
523 Training device
667 Anti syphon device
476 Valve assembly
521 Valve high pressure
584 3/4" “T”
739 3/4" Close nipple
356 Male adapter
948 Female coupling w/gasket
473-5 Float assembly
342 Nylon ratchet
343 Brass thumb screw
345 4" x 4" bob float
586 Float arm 5 1/2"

156 2’ Flex Hose
355 Pipe insulation
400 Hose Clamp
396 3/4” Male x barb fitting

PARTS PRiCE LiST FOR #3370-S

3/4" Close nipple #739 &
Female Coupling w/gasket #948

4” x 4” Bob Float #345

529184_Miraco_Miraco_509856_Layout  5/4/17  2:01 PM  Page 65




